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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1-  During the ----—-—--—-—-- between arriving at the airport and boarding the plane, we’ll probably
do a hit of window shopping.
1) interval 2} intervention 3) imbalance 4} inconsistency

2-  That ugly vacant lot ---—----- frem the beauty of the neighborhood.
1) depletes 2) derives 3) detracts 4) deviates

3- At first, the Savings Mart dido’t de well, but after it lowered its prices and increased its
advertising, the store began to ----——--—-- :
1) prosper 2) subside 3) arise 47 strive

4-  The movement of clouds may seem to be --—-—--—-, but scientists know that there is a
pattern to how they move,
1) compaliblc 2) speeilic 3) transicnt 4] random

5 Since my math class was very difficult for me, [ consider the B that 1 got for the course
te be a great ——-—-—--,
1} illusion 2) trimmph 3) oblization 4} disapproval

6-  The hardware store sells —-----——- stones made of plastic that you can open and hide a house
key in. Then vou can hide the key by leaving the “stone” somewhere near vour door.
1) confidential 2) artificial 3) superficial 4} metaphorical

7-  Rhoda’s budget is so tight that she felt it would be ------—--— to buy hersclf cven a ten-
dollar pair of carrings.
1) plausible 2) langible 3) sullicient 4) cxtravagant

8-  When the climbers reached the peak of the tallest mountain in the world, they felt it was
a ------—--- geeasion and were filled with pride,
[} momentary 2) moribund 3) meticulous 4} momentous

9-  The ramification of committing a4 murder is to serve a prison sentence even if you
------——-- YOur actions.
1) implement 2) renew 3) regrel 4y exceed

10- [t is often an attorney’s job to construc the meaning of a contract and then share that
------——-- with a client and, if needed, with a judge or jury.
1) jusiification 2) interpretation 3) translormation 4} condemnation
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PART B: Cloze Test
Dircetions: Read the following passage and decide which choice (1), (2), (3), or (4) best fifs

each space, Then mark the correct choice on your answer sheet.

For 20 years, children have been treated (11) ----——---- all sorts of programs on
television which are supposed to help them hecome better at skills such as reading and
math. ‘These programs have presented (12) ---------- such as counting and recognition
ol letters as nothing but fun, (13) -—----—-—-- by such things as rainbows and jumping
[rogs. (14} -=mmanemm- no unprovemnent in children's abilitics in literacy and numcracy
(15) ———mmmmm- . These [un ways ol teaching such skills don’t seem (o work.

11- 1)in 2) for 3)to 4} on

12- 1) the leaming of skills 2) skills to leamn
3) the skills of learning 4) learning of skills in

13- 1) arc accompanicd 2) lo accompany
3) being accompanied 4) to be accompanied

14- 1) In spite of 2) But 3) Although 4y Whereas

15- 1) would observe 2) it observes
3) has been observed 4) to be observed

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4). Then mark the correct choiee on your answer sheef,

PASSAGE 1:

The abilily of the [oundation siructure 1o bear the scismic aclions is imporiant lor
the overall earthquake resistance of the building. Usually, cantilever walls, as well as
[rame columns. rest on one or more basement sloreys («rigid box») or on a massive

raft. According to the principles of the capacity design method. the foundations should
be able to transfer the overstrength sectional forces of the plastic zones to the ground
wilhout vielding. Foundation structures should alwayvs remain elastic since plastic
deformations generally lead to an unpredictable behavior and additional displacements
and stresses in the building structure. Besides, repairs are usually substantially more
difficult to execute in the foundation than in the building structure. ‘The reinforcement
must therclore be strengthencd  dircelly  below  the plastic zones and  detailed
accordingly.

When the foundation structure [orms a rigid box made up of reinlorced concrele
walls and slabs. it should be checked that the path of compression, shear, and tensile
lorees can be trans(erred [rom the plastic vongs ol the siructural walls through the
slabs to the exterior walls and to the raft. It may be necessary to reinforce these
structural elements (accounting for possible recesses and openings) and to increase
locally the depth of the ratt and to account tor a local increase in bearing pressure
acting on the soil beneath the walls.
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16-

17-

18-

19-

20-

To ensure that seismic forces can be transferred to the soil it is advisable to study
the [orce path in the [oundation structure. The allowable soll siresses under dynamic
action may be higher than the corresponding static stresses, but care should be taken to
cnsurce that plastic dsformations ol the soil are avoided under all circumstances.

The hest title for this passage is ---—----——,

1) Bearing the Seismic Actions

2) The Importance of Right Box in a Building

3) Protect Foundation Through Capacity Design

4y Pressure Digtribution Acting on the Soil

Reinforeing the structural clements of foundation is carried out in order to ——--—--—-,
1) deepen the structure of the rall

2) ensure that seisimic forces can be transferred to the soil

3) investigate the foree path in the foundation structure

4) convince the soil stresses are higher than the static ones

The word “detailed” in the last linc of paragraph | means -——--—--—-,

1) strengthened 2) divided

3) supported 4) developed

It’s stated in the passage that the foundations -—------- )

1) should be sufficient to cover all recesses and openings

23 should more ¢ssenlially be repaired than other struclural members
3) form a rigid box constructed on the plastic zones

4) should be capable of transferring all applied forces without failure

All of the following are the consequences of plastic deformations EXCEPT-—----—-- ;
1) unforceahle circumstances 2) additional dislocation

3) territorial behaviour 4) tension in the building structure
PASSAGE 2:

Prestressed concrele 1s a [orm ol conerele used in construction. I is substantially
"prestressed” (compressed) during production. in a manner that strengthens it against
tensile forees which will exist when in service.

This compression is produced by the tensioning of high-strength "tendons" located
within or adjacent to the concrete and is done to improve the performance of the
concrcle in scrvice. Tendons may consist ol single wires, muli-wire strands or
threaded bars that are most commonly made from high-tensile steels, carbon fiber or
aramid [iber. The cssence of prestressed conercte is that once the initial compression
has been applied, the resulting material has the characteristics of high-strength
concreic when subject o0 any subscquent compression lorees and ol duciile high-
strength steel when subject to tension forces. This can result in improved structural
capacily and/or scrviccability compared with conventionally reinlorced concrele in
many situations. In a prestressed conerete member, the internal stresses are introduced
in a planned manner so thal the stressey resulting from the superimposed loads are
counteracted to the desired degree.

Prestressed concrete is used in a wide range of building and ¢ivil structures where
its improved perlormance can allow [or longer spans, reduced structural thicknesscs.,
and material savings compared with simple reinforced concrete.
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21-

22-

23-

24-

I“irst used in the late-nineteenth century, prestressed concrete has developed bevond
preiensioning 10 include posi-tensioning, which occurs alicer the conerele is casl.
‘Tensioning systems may be classed as either monostrand, where each tendon's strand
or wirc 1s stressed individually, or multi-strand, where all strands or wires in a (endon
are stressed simultaneously. l'endons may be located either within the concrete volume
or wholly outside ol it. While pre-tensioned concerele uscs tendons dircetly bonded to
the concrete, post-tensioned concrete can use either bonded or unbonded tendons.

Prestressed conerete is produced in order (0 —--———--- ;

1) improve the perlformance ol conerele in construction

2) aggravate a good amount of tensile stress

3) have a structure with less weight and intensity

4) deercase the additional special equipment thal construction requires
Internal prestressing refers to -—-----— 2

1) tensioning occurring after the concrete is cast

2) locating elements within the concrete mmember

3) tendons direcily bonded to the concrele

4) each tendon’s strand or wire stressed individually

The tendons are made from all of the following EXCEPT ----—---- .

1) carbon fiber 2) aramid fiber

3) high-tensile stecls 4) single-wire sirands
The next following paragraph most likely is aboot —-——--,

1) bonded post-lensioning 2) pre-tensioned concrelc
3) unbounded post-tensioning 4) tendons applications
The word “counteracted” in paragraph 2 means -—------—--,

1) neutralized 2) reacted

3) allowed 4} worsened

PASSAGE 3:

There are some advantages for steel structures in a seismic zone, pamely their
flexibility and low weight. These structures attract smaller forces when an earthquake
hits. Steel structures are generally more flexible than other types of structure and lower
in weight. l'orces in the structure and its foundations are therefore lower, 'This
reduction of design forees signiticantly reduccs the cost of both the superstructure and
[oundations ol 4 building.

Steel structures are generally light in comparison to those constructed vsing other
materials. As earthquake forces are associated with inertia, they are related to the mass
of the structure and so reducing the mass inevitably leads to lower seismic design
forces. Indeed some steel of structures are sulTiciently light that scismic design is not
critical, This is particularly the case [or halls/sheds: they creaic an envelope arcund a
large volume so their weight per unit surface arca is low and wind [orees, nol scismic
forces, generally govern the design. This means that a building designed for gravity
and wind loads implicitly provides sufficient resistance to earthquakes. This explains
why in past earthquakes such buildings have been observed to perform so much better
than these made of heavy materials.



# dovia 834C AYFP) U5 = 5l pos it

26-

28-

29-

30-
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By rcading this passage which question can you answer?

1) Which buildings can stand better, steel or concrete ones?

2) llow can we increase the flexibility of our structures?

3) Why are sieel structures good al resisting carthquake?

4) Which buildings perform betier against carthquake, old or modem?
The rclationship between the cost of structures and design forees 18 ——-——--,

1) changeable 2) inverse

3) implicit 4) direct

The word “namely™ in paragraph 1 can be substituted by ----—--—--,
1) in addition 2) respectively

3) in particular 4) accordingly

The scismic design in steel building is not important if --—-——-—,

1) the constructions cceur in the area standing damage from earthquakes

2) the developers add more support to the hottom floor

3) the materials using for structures are extremely flexible and durable

4) the weight of these structures arc adequately low

Which sentence, based on the passage, is True?

1) The smaller forees a building atlracts, the less durable it is against carthquake.
2) Stiffer and heavier structures are not suitable for earthquake-prone regions.

3) A building designed for wind forces is not sufficiently earthquake-proof.

4) The cover surrounding a large volume should have a high flexibility.
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